Turn in (A).

(A)
Find an equation for the line tangent to 
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 that passes through the origin.

(B) Some time ago, on an isolated tropical island, naturalists found 
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birds of the rare species known as the band tailed squawking gull of paradise.  The population of gulls grew so that after 
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 years, there were 
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(i)
Find 
[image: image5.wmf])

(

lim

t

P

t

¥

®

.  What does this limit say about the gull population?


(ii)
Find and simplify 
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.  What are the initial (i.e. at time 
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) growth rate and relative growth rate?  (Include units in both cases.)


(iii)
Find and simplify 
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.  When will the population grow at the relative rate of 
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?  What will be the size of the population at that time?

_1158988613.unknown

_1158988705.unknown

_1158988773.unknown

_1158988808.unknown

_1158988733.unknown

_1158988666.unknown

_1158988562.unknown

_1158988600.unknown

_1158988416.unknown

